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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 
%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-3 ( Subsidiary-3 ) 

búˆ Yy [ S-3 : Comprehensive Economic 
Development (Britain/Japan/China) & Basics 

of Environmental Economics (SEC-6) ] 
a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) ◊[˝–‰ªRÙO„X ÂEıX a[˝ÔY“U] ◊`î ◊[˝Y¿[˝ H‰ªRÙO ? 

 (F) `aÓ %Ác˜OX ◊Eı ? Ac˜O %Ác˜OX◊ªRÙO ÂEıX [˝Á◊Tˆ_ EıÃ[˝Á 

c˜„Ã^◊ªK˜_ ? %Ác˜OX◊ªRÙO [˝Á◊Tˆ„_Ã[˝ Zı_ÁZı_ =‰{F EıÃ[˝”X* 

   6 + 10 + 4 

 (G) ÂTˆÁE«ıGÁCÃ^Á Y◊Ã[˝[˝Á„Ã[˝Ã[˝ `Áa„XÃ[˝ %[˝aÁX H◊ªRÙO„Ã^ ÂEıX 

Â]c˜O◊L `Áa„XÃ[˝ Y«XfY“◊TˆúˆÁ H‰ªRÙO◊ªK˜_ ? Â]c˜O◊L 

`Áa„XÃ[˝ Y“ÁU◊]Eı Y^ÔÁ„Ã^ ◊Eı ◊Eı %UÔÍX◊TˆEı Y◊Ã[˝[˝Tˆ¤X 

H‰ªRÙO◊ªK˜_ ? 8 + 12  

 (H) ◊[˝Y¿„[˝Ã[˝ Y…[˝Ô[˝Tˆfi Y^ÔÁ„Ã^ ªJÙ›„XÃ[˝ \…ˆ◊] [˝Ó[˝ÿöˆÁ ◊EıÃ[˝÷Y 

◊ªK˜_ A[˝e ◊[˝Y¿„[˝Ã[˝ YÃ[˝[˝Tˆfi Y^ÔÁ„Ã^ ªJÙ›„X ◊Eı W˝Ã[˝„XÃ[˝ 

\…ˆ◊] aeïıÁÃ[˝ H‰ªRÙO◊ªK˜_ ? E ı◊b =~Ã^„XÃ[˝ ◊[˝bÃ^◊ªRÙO„Eı 

Y“U] mÃ[˝”±ºˆ ÂVCÃ^ÁÃ[˝ ÂEıÏ`_◊ªRÙO a+„EÔı ae„l˘„Y 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 + 8  

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ◊[˝–‰ªRÙO„XÃ[˝ ◊`î ◊[˝Y¿„[˝ E ı◊b ◊[˝Y¿„[˝Ã[˝ %[˝VÁX a+„EÔı 

ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X*  

(F) Â]c˜O◊L `Áa„XÃ[˝ a]Ã^ LÁYÁ„X \…ˆ◊] [˝Ó[˝ÿöˆÁÃ[˝ Y“E ı◊Tˆ, 

\…ˆ◊] aeïıÁÃ[˝ A[˝e E ı◊b Âl˘‰y %G–G◊Tˆ a+„EÔı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 2 + 6 

(G) ªªJÙ›„XÃ[˝ %UÔÍX◊TˆEı =~Ã^„XÃ[˝ _l˘Ó a]…„c˜Ã[˝ È[˝◊`rÙÓm◊_ 

=‰{F EıÃ[˝”X A[˝e %X«Ã[˝÷Y _l˘Ó a]…„c˜ ÂYgÏªK˜Á„XÁÃ[˝ 

LXÓ ac˜ÁÃ^Eı ◊[˝bÃ^m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6  
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(H) Y«XGÔPˆX„^ÁGÓ Y“ÁE ı◊TˆEı a+„VÃ[˝ ◊XõıbÔS A[˝e EıÁ]Ó 

[˝Ó[˝c˜ÁÃ[˝ aey‘Á‹ôˆ Y“◊y‘Ã^Á◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(I¯) Vl˘TˆÁ A[˝e [˝c˜X„^ÁGÓ aÃ[˝[˝Ã[˝Ác˜ ◊XW˝ÔÁÃ[˝„S ◊XõıbÔS 

A[˝e ÊªJÙrÙÁÃ[˝ \…ˆ◊]EıÁ◊ªRÙO„Eı [˝ÓÁFÓÁ Eı„Ã[˝ a[˝ÔÁ◊W˝Eı 

_Á\ˆVÁÃ^Eı \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁ ◊XW˝ÔÁÃ[˝S EıÃ[˝”X* 

(ªJÙ) Y◊Ã[˝„[˝` aeÃ[˝l˘„SÃ[˝ ÿëˆÁ„UÔ ◊XÃ[˝[˝◊¨K˜~ =~Ã^X aey‘Á‹ôˆ 

W˝ÁÃ[˝SÁ◊ªRÙO„Eı [˝ÓÁFÓÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) ◊X∂oˆ◊_◊FTˆ ◊[˝bÃ^m◊_Ã[˝ ]„W˝Ó Â^-ÂEıÁ„XÁ V«◊ªRÙO ◊[˝b„Ã^Ã[˝ 

CYÃ[˝ ae◊l˘ä ªRÙO›EıÁ ◊_F«X : 3 × 2 = 6 

(i)  C„LÁX ÿôˆ„Ã[˝Ã[˝ %[˝l˘Ã^ 

(ii)  G–›Sc˜Á=a GÓÁa C %Á[˝c˜ÁCÃ^ÁÃ[˝ Y◊Ã[˝[˝Tˆ¤X 

(iii)  %ÓÁ◊aQˆ [˝ ◊rÙ       

(iv)   Y«XGÔPˆX„^ÁGÓ a+„VÃ[˝ [˝ ◊à˘„Ã[˝FÁÃ[˝ Y“E ı◊Tˆ* 

(F) ÂEıÁL Tˆ√º¯◊ªRÙO ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) [˝ÁW˝Ác˜›X %◊W˝EıÁÃ[˝ A[˝e a[˝ÔaÁW˝ÁÃ[˝„SÃ[˝ a+◊w¯Ã[˝ W˝ÁÃ[˝SÁ 

A[˝e Am◊_ ÂU„Eı a rÙ a]aÓÁm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(H) V…bS ◊XÃ^‹óˆ„SÃ[˝ LXÓ \ˆÃ[˝T«ˆ◊Eı Y“VÁ„XÃ[˝ Zı_ÁZı_ 

a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(I¯) ◊X◊V¤rÙ ]ÁyÁ %X«^ÁÃ^› V…bS a ◊rÙÃ[˝ LXÓ V…bS 

a ◊rÙEıÁÃ[˝›„Eı Y“Vw¯ G–Ác˜Eı ◊[˝≥V« %X«^ÁÃ^› %X«]◊Tˆ Yy 

Y“VÁ„XÃ[˝ [˝Ó[˝ÿöˆÁ (Ambient Permit System [˝Á 

A.P.S.) A[˝e V…bEı ◊X„l˘Y„SÃ[˝ LXÓ =da„Eı ÂVÃ^ 

%X«]◊Tˆ Y‰yÃ[˝ [˝Ó[˝ÿöˆÁ (Emission Permit System 

[˝Á E.P.S.) [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? Ac˜O V«◊ªRÙO [˝Ó[˝ÿöˆÁÃ[˝ 

]„W˝Ó YÁUÔEıÓ ◊EıÃ[˝÷Y ? 3 + 3  

(ªJÙ) ◊`î ◊[˝Y¿„[˝Ã[˝ a]Ã^ ◊[˝–‰ªRÙO„X ]…_W˝X Y“[˝Á„c˜Ã[˝ GPˆX C 

Y“[˝Á„c˜Ã[˝ W˝Ã[˝X a+„EÔı ae◊l˘ä %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªK˜) Â]c˜O◊L `Áa„XÃ[˝ %Á]„_ LÁYÁ„X È[˝„V◊`Eı [˝Á◊S„LÓÃ[˝ 

◊Eı W˝Ã[˝„XÃ[˝ Y◊Ã[˝[˝Tˆ¤X _l˘ EıÃ[˝Á ^ÁÃ^ ? 

(L) ªJÙ›„XÃ[˝ Y“U] Y◊Ã[˝EıîXÁEıÁ„_ %UÔÍX◊TˆEı =~Ã^„XÃ[˝ 

Y◊Ã[˝EıîXÁ ÂEıÏ`_ ◊c˜„a„[˝ "]c˜ÁX\ˆÁ„[˝ %◊Tˆy‘Á‹ôˆ 

[˝Ó[˝W˝ÁX'-AÃ[˝ ÂEıÏ`_◊ªRÙO„Eı (Strategy of Great Leap 

Forward) [˝ÓÁFÓÁ EıÃ[˝”X* 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) Why did the Industrial Revolution occur at 

first in Britain ? 

(b) What is Corn Law ? Why was this law 

abolished ? Mention the effects of abolition 

of this law. 6 + 10 + 4  

(c) Why did there occur the restoration of Meiji 

rule as a result of collapse of the rule of the 

Tokugawa family ? What economic changes 

occurred during the early phase of the rule 

of the Meiji ? 8 + 12   

(d) What was the nature of the land system 

during the pre-revolution period in China ? 

What type of land reforms occurred during 

the post-revolution period in China ? 

Discuss, in brief, the strategy of assigning 

first priority on the development of 

agriculture. 6 + 6 + 8 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss, in brief, the contribution of 

agricultural revolution in industrial 

revolution of Britain. 

(b) Discuss the nature of the land system, land 

reform and agricultural development in 

Japan during the period of Meiji rule. 

  4 + 2 + 6 

(c) Mention the features of objectives of 

economic development of China and the 

factors favourable for fulfilling such 

objectives. 6 + 6 

(d) Discuss the process of extraction and 

optimum use of renewable natural 

resources.  

(e) Explain the role of extraction and efforts in 

the determination of efficiency and 

sustainable yield. Also determine the 

equilibrium which yields maximum profit. 

(f) Explain the concept of sustainable 

development in the interest of protection of 

environment.  
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3. Answer any four questions  : 6 × 4 = 24 

(a) Write short notes on any two of the 

following : 3 × 2 = 6 

(i)  Erosion of the ozone layer. 

(ii) Greenhouse gas and change in 

weather. 

(iii) Acid rain. 

(iv) Nature of the curve showing increase 

in renewable resources.  

(b) Discuss, in brief, the Coase theorem.  

(c) Discuss the concepts of open ( or free ) 

access and common property resources 

and problems arising out of these. 

(d) Discuss the effects of payment of subsidies 

to control pollution.  

(e) What is meant by the two different systems 

of permit known as Ambient Permit System 

( i.e. APS ) and Emission Permit System        

( i.e. EPS ) ? What are the differences 

between these two systems of permit ?  

  3 + 3 

(f) Discuss the nature of growth of flow of 

capital and that of capital formation during 

the period of the Industrial Revolution in 

Britain.  

(g) What type of changes are observed in 

foreign trade in Japan during the Meiji  

rule ? 

(h) Explain the strategy of 'Great Leap 

Forward' as a technique of planning for 

economic development during the period of 

the First Plan in China. 

    


